Module Name : Commerce
Exam Date : 13-Feb-2022 Batch : 09:00-12:00

Sr. No.

Question Body and Alternatives
Commodity approach is also called as :
QILITIHET FMJHS 200G LN6MM LIN60TEUHLOMMILD 60L& EHEVITID :

A : Economic Approach

CILITHETTSHIT 3{S0UGS PN M
B : Descriptive Approach — (Correct Alternative)

el ifl 6 meoT 48301 & (LP6m D
C : Legal Approach

FLLLLTAINTES I|600IE (LO6MM
D : Management Approach
GLOGVITEO0TE0ILD 2] 630 (& (LD 6D M

The internal factors influencing pricing decision of an Organization is :

6(H BlMIeUeTEF) 60T aflemev FLDLBSLILIL L SFLomeoT miserfley LIk@ eUH & @GLD &8 STTeol :

A : Largely controllable — (Correct Alternative)
QuBLeTellev &L HILILIH &SI &6V
B : Shortly controllable

&ODHS Semailey HLOLULIBSSIH
C : Shortly uncontrollable




GMbHSE sjeTellev SHLQLILIGESS @UI6VTenLn
D : Largely uncontrollable
Qu@LeTelley SLQLILGES G UI6VTenLn
Stages of product life cycle.
QIUIMTIHL_&HEH&H S TEOT 6UMTLDE NS GLp MG UN 6T LILY [Blemev &6l :

A : Buying, Selling, Assembling, Warehousing
QUMMIG S 6V, M LIe06T, R6TM) C5FJESH6V, LIGTL& &Mt 6u Wl (Hh &6V
B : Introduction, Growth, Selling, Transporting
QSMLS&LD, eueni&s, allmLiemenr, CLIMEH G TSH S
C : Introduction, Growth, Maturity, Decline — (Correct Alternative)
QSMLESHLD, QUETTESR, (LNSIeMLNLEMLG6V, Fifley
D : Buying, Selling, Maturity, Decline
6UIMMHIG 56V, elMLIEMEDT, (LN UL G6V, Fifley
Which uncontrollable factors affecting marketing mix ?

FHenG Hevemealenll LITH &G &L B\ULMBSS (PIGWITS SITTeool] :

A : Physical distribution
QILPMIGEL el

B : Competition — (Correct Alternative)
GuITL1q

C : Market Research
FHENG L6

D : Personal Selling

L6eTEMY el Lemeor




Marketing Mix is a not composed of :
FHensWI(H &8 Fevem6uUileir 2 6TeTL BIS TS M6 6Te06 ?

A : Price
allemev
B : Population — (Correct Alternative)
IN&&H 6T Q& TN
C : Product
QUIT(H6IT
D : Place
QLD
Skimming pricing implies :
HML S &HH &G0 elemey [BlTerorLD 6T60TLIS! :

A : Customary prices
QUGS L0MeoT 6606V 86T
B : Prestige pricing
Q&errel ellemev [BFeoorWILD
C: Low pricing
GBS allemev
D : High pricing at initial stage — (Correct Alternative)
TG allemev QUITHEN6T MG LILBSSID QLTS
Comparative Income Statement and Comparative Balance Sheet constitute

RUINLE 558 aU(BLOMeT MG IMmMID UL 55858 @@uum]ema)as GMILIL] 4,5 Wleor
QeSS G




A : Comparative financial statement — (Correct Alternative)

RUILE556 b5 M &Hns
B : Common size statement

QLIS 2|66 M) & 605
C : Profit and Loss statement

@e6ur BLL M &
D : Cost statement

IIL GG I N&M5SH

Sales 1,50,000 Units
Estimated stock on 01.04.2020 — 14,000 Units
Estimated stock on 31.03.2021 — 15,000 Units
Budgeted production

allMLIemeT 1,50,000 3J6V& 56T
01.04.2020 S|60TM) S600TEHRL_ L FT&HH(HLIL] 14,000 16V 86T
31.03.2021 S|60TM) SHE0UTHRL_ L FFHGHHLIL] 15,000 2160 86T.
THTUTTLUL 2 HUSS) :
A : 1,65,000 Units
1,65,000 &J6V& 86T
B : 1,64,000 Units
1,64,000 &6V& 86T
C: 1,49,000 Units
1,49,000 &6V & 86T
D : 1,51,000 Units — (Correct Alternative)
1,51,000 &6V(& 86T
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Estimated stock — 15t April — 16,000 Units

Estimated stock — 30t April — 20,000 Units
Estimated consumption — 1,20,000 Units
Price per unit Rs. 0.25 Amount of purchases

FHOUSHR L FIEHHHLIL — LTV 1 - 16,000 3{60&&H6IT
FHOTSHH L FIeHRH(HLIL — LIT6V 30 - 20,000 3{60& & 6T
FHOTEHL_L BHTE - 1,20,000 {6V 86T

6 (H 6V & 60T elem6L €1H.0.25 G M6V Q& TeN & .

A : Rs. 1,56,000
€h.1,56,000
B : Rs. 1,24,000
eh.1,24,000
C: Rs. 31,000 — (Correct Alternative)
€/.31,000
D : Rs. 20,000
€6.20,000

Cash from operation is equal to
QEFWeVLITH &6l (BH & eUHLD LI6ooTLD 6TEOT LIS TG LD.

A : Net profit plus increase in outstanding expenses — (Correct Alternative)

Bl&T 6VITLILD LDMHMILD BHleviemeuuilev 2 _6Tem Q&F6eva]serlev HFH S
B : Net profit plus increase in Debtors

Bl&T 6VITLILD LDMHMILD &L eoTmeTIaserfler S H &L
C : Net profit plus increase in stock

Bl&T VITLILD LDMHMID FJ&HEG AR SFILIL




D : Net profit plus increase in Accrued Income
Bl&T VML WMHMID ST LUULL eU@BLOTersSSH 60 S &KL

Which of the ratios is a profitability ratio ?
@) 6m6UG6TI6L 6181 @6eVTLSTE ST IS 2

A : Proprietary ratio
2 flemwwimery & S0
B : Capital gearing ratio
ELNEV G 60T @ UG5 SIS LN
C : Return on capital employed — (Correct Alternative)
(P&G6V LS TEOT eUIHLDLILY
D : Working capital turnover
BHED L (LLEMM CLAGVGHEDTLD L|T6Te
Which one is Current asset ?

BLLL Q&FTHS 6T60TLISI

A : Bank overdraft
MG GLuevelemnT MMM
B : Bills payable
CFRFHSISHGSTIW LIHDIF FLb
C : Creditors
FHLeo HBHTT
D : Cash at Banks — (Correct Alternative)
aumIGulev QT &L

18 the formula to find out the P/V ratio.
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P/V ratio &600T(H\ LI LILIGM & MTe0T @GS H JLD

At C o0
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— (Correct Alternative)
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Find the Re - order level.

(A) Maximum usage 300 units
(B) Minimum usage 200 units
(C) Re - order period 8 to 10 days

FI&HEG 3,em600r Wil(H 5696V, Leoor(H LD yemevor WL LILI(HLD 2j6maflement & 600T(H LI 19886 LD.
() AH &L UITS LwWeTUB SSLILGIMD Lt (h {66 300 6V& 86T

(&) GBS LLFINMTS LeTLUBOSHS LG LuleoTUTL () {66 200 &6V & 6T

(@) F7& G WetoT(HLD emevor WL LILIHID &Tev @ emLGleuer] 8 -6 @ HHS! 10 BHITL_S6iT

A : 3 Units
3 9|6V&SE6IT
B : 30 Units
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30 V& B6T

C : 300 Units
300 & 6V& 6T

D : 3000 Units — (Correct Alternative)
3000 9|6V(& 6T

From the following information given below, calculate profit that can be credited to profit and loss account.
(A) Notional profit Rs 79,000

(B) Cash received Rs 3,30,000

(C) Work certified Rs 4,00,000

(D) Contract price Rs 6,00,000

LY eoreupLd eNLITmIser e BbS!, @6eVTLI-HL L &600Td &6V 6UT6)] 60)6U& 8L 1LIL G6uevorLq ULl
@) 6VITLIS S 60)60T 5560075 D) (h) 5.

(3]) LDIH& 60T @6VITLILD (BSHTFITWILD) - erp. 79,000

(&) QUMLILLL QIT&&LD - em. 3,30,000

(@) FmeTmerfleasLILL L Licoot] - em. 4,00,000

() @LIUB S ellemsv - em. 6,00,000

A : Rs 4,345

em. 4,345
B : Rs 43,450 — (Correct Alternative)

em. 43,450
C: Rs 44,350

erm. 44,350
D : Rs 45,430

e 45,430

Costs are those costs which can be identified easily with and allocation directly to a particular product, process or job is
called
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@M GOILILLL Qurmerfledr 2 mUSHUNCeT, QUL LG C6VIT 3j6V6VSI LicooflulGeurr
(GFemel) eTeflemLOWITE: 6TH60TITEL 2_(HEUMEHSHLILIL L S 6TedTLIeNS 6T6rf 15 me Ll H S,

5 MG 600TL_Me0T QFevalleorsems ererfl5mas & 6v0r L MIUILILIL LTV, &M E 2_600T LT6oT
Q&FevalleoTd B 6T QLI 6T6OTMI ML &HSLILI(HILD.

A : Total cost
QME S GlEevailerid
B : Indirect cost
LDEMMLNG Gl&6veleorLd
C : Partly direct, partly indirect cost
UGS GBI, LGS LDemm(LNs Q&Fevedl6orin
D : Direct costs — (Correct Alternative)
GBIy G &Fevailerin

Process costing is suitable for :

QFWILNENM 3L &&HaNem6V HLhG600TLeUMmMI6L 6TEHM @& QUIMIBHSILD ?

A : Hospitals
LD (H & &1 61 LD 60) 60T
B : Oil Refinary firms — (Correct Alternative)
6T600T G\ 600T U &+ & 5 S If1LIL| Bl mieUe6oTLD
C : Transport firms
CUTEG TS S! BlmiaIeTLD
D : Brick laying firms
Q&FMIGN WM& GLD Blmieleorid

Specify the expenses which are excluded from cost :
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ILEHEF QFaalley GFF&HS @UIVTF QF6a&HemeT GMILILIMS :

A : Direct expenses
GBI QI F V66T
B : Distribution expenses
N5 8 aULDmBISH Q& 606 86T
C : Manufacturing expenses
2 HUSHEF QF6v6 6T
D : Expenses of raising capital — (Correct Alternative)
ELDGV S 60T 2_([HEUMTEEE CI&F6V6)T6T
Unit costing is used in one of the following :
VS L E5HE &600T6E T LD T 600T L6 M MIET 660TMI6L LWeTUMSSLILIGSMS! :

A : Paper industry — (Correct Alternative)
SITET QS TLHIME TEDI6V
B : Chemical industry
GeuHILI QUITIHET QST MDHEFMen) 6V
C : Automobile car industry
SITOT @UIMIEG GHILD6|H S Q&ML &F memev
D : Construction of flyover
GLOLOLIMEV &L_(hLDITE00T LD

Margin of safety is referred to as :
@ 6LITL LIMSISTLL| {676 6T60TLISI :

A : Excess of actual sales over fixed expenses
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LDTMTEF QF6V6HM6TSH SHITL LG ellMHLemeT HH &L
B : Excess of actual sales over variable expenses
LOTMID QF V6 FHEN6TSH SHITL LGN & & llMLieoeor
C : Excess of actual sales over break-even sales — (Correct Alternative)
Fifl 510 eflMLemetTemn W& SITL IV 35 & M LI6v 60T
D : Excess of budgeted sales over fixed costs
LDTOTEF QFVM6SH HITL I AT & HL_L alMLiexneor
The following are characteristics of the 'Entrepreneur' except.
SLhalHeUeTelMNI6L 6Tema GG TLAl6L (LD 6M 60T GEUIT(IHE & T60T @) LLIeVL]&6rflev QUIMTBHIHSTHEmE ?

A : Decision Maker
P46 &Hem6T GUIbDmILIIT
B : Profit maker — (Correct Alternative)
@) 6VITLIS &) 60)60T 2_(HEUTE: (& LIGUT
C : Problem Solver
LNg& & emeoraHemeT S5 6n6uliLIal]
D : Risk taker
QUMW MLIGIT
"CSR" stands for :
"CSR" eT6OTLIS)

A : Consumer Service Responsibility
H&ETCaUMT CFemer QLIMTMILILY
B : Corporate Service Rendering

&ALl GFemeu 2 erfl5 560
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C : Corporate Social Responsibility — (Correct Alternative)
&HLDGLI6oT Fengs GILIMMILIL
D : Customer Satisfaction Ratio
BISTCUTT Blemme all&H &L
Which of the following type of Industries started in Tamil Nadu are not eligible to get a subsidy of 10% ?

G UL Q&ML Slemm&ertley eremel SLAILD BT 1960 QS TL MBSO LD G560 85 61H & 85 TeoT
10% (F5655) LoMeflW&EH MG &GS ullevevmgemeu ?

A : Electronics
LS\ 63T & 1T 60T M6 &5 61T
B : Drugs
LDBBSIL QILITIHL 6T
C : Automobile Ancillary unit
aImserr 2 Hifl LUMsmI&GeT 2 MLUSSH Lifley
D : Home Appliances — (Correct Alternative)
() 2 LIGWITSL QLML 56T

A single lump sum which is given by a government to an industry is called :

ITEMHRIEHSHHTEV 2(H QSTLHMHFTNVE S seMemM GILNTES O\&5 608 6ULDMISLILIL LT 3

A : Subsidy — (Correct Alternative)
LOM6of WD

B : Concession
FNIN5

C : Bounty

STIITETLD
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D : Loan
&L_60T

Promotional Functions does not involves :
GuLUML(H LetoflEerflev 2 6TaTLBIsTH S :

A : Selection of Business idea
CHIHASHH&HSHLILIL L 66008 HHES
B : Preparation of Business plan
aleooflss S L swmifliiLy
C : Requirement for Finance
b5 CHeme
D : Accounting — (Correct Alternative)
& 600T& & L6V
The entrepreneur refuse to adopt and use opportunities to make changes in production is called :

2 MUSHUNE IDTMMBEIGHN6T FMHLIHESHISHMDES UMWLILILGHEN6T G&FILILISM GO
LWeT UM S S aISMGLD IDMIS G0 QST em6TGRIMT @) 6UalTmI eMLP& S LILIMGUTI :

A : Drone entrepreneur — (Correct Alternative)
L GrmedT Q& ml6L(Lnem)6oTGeUT
B : Fabian entrepreneur
SCLULNW 6T Qs mdlevnemeorGeuriy
C : Imitative entrepreneur
FTW6L Q& TLI6L (N6 60TGeUITT
D : Innovative entrepreneur

LIS Q& TLEI6V (L6t 60T GoUTTT




Find the value of 5% trimmed mean for the following data.

"14, 20, 20, 20, 20, 23, 25, 30, 30, 30"

BLNHSTEIN 5561696V, 5% (MBIGMWN&ESLILLL FrmaiflulleT LS L emeor

FHeoor(HLI &5 e LD.

"14, 20, 20, 20, 20, 23, 25, 30, 30, 30"

A:232
23.2

B : 23.5 — (Correct Alternative)

23.5
C:215
21.5
D:20.0
20.0

Match the following :
{a) Variability

(b) Variance
(c) Outliers
(d) Range

Select the right response.

Maximum (—) Minimum
Extreme values in a distribution
Sum of squared deviation
Spread-out
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SLpsu(meucsTeumenm CUMH&HIS -

(@)  TMIENSLD (i) HSHBULELD HLHIG §6D
G6nMIHHLILFLD

(b)  wmmur® (ii) 6ol LIMISL 1q60T oL (B LML
LD&ILIL

(c) Geuemui(y i) LS Ig6r eujdbs ellHlGLN

(d) &J&LD fiv]  ugeiiug

giliwmen ellsnLwilsner CaijhelsEH SHeuLD.

Az (a)-(1), (b)-(i1), (c)-(iid), (d)-(iv)
(a)-(1), (b)-(i1), (c)~(iid), (d)-(iv)
B : (a)-(iv), (b)-(iii), (c)-(i1), (d)-(i) — (Correct Alternative)
(a)-(iv), (b)-(iii), (¢)-(i1), (d)-(1)
C: (a)-(iv), (b)~(ii), (¢)-(1), (d)-(ii)
(a)-(iv), (b)-(i1), (¢)-(1), (d)~(iii)
D : (a)-(iv), (b)~(i1), (c)-(iid), (d)-(1)
(a)-(iv), (b)-(ii), (c)-(ii1), (d)-()
The technique of estimating a past figure is termed as :

HLHS &HMev lLTHmSE Q&MLlev HIL- LI ((nenmulms S LILTH QFUleuens :

A : Interpolation — (Correct Alternative)
QL FO&F([HFH6V

B : Newton's law
Bl L 6T a5

C : Extrapolation
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QeuerflFQ & a6

D : Unequal intervals
FLOET@ V6V @ 6emLQauerf]

is the source of secondary data.
@) 7evoT LITLD Blemev efleuhIs6T eLneulD ¢

A : Questionnaire
edleoT L LIL- 19 U6V
B : Personal observation
6ot ILILL L GIB[J&IT600T6V
C : Journals and Newspapers — (Correct Alternative)
QeuerflufH s6T LMD LI5S iflem &8s 6T
D : Oral interview
QUMW GBI & TevoT6v
The word Mode is derived from the language word 'La Mode'.

Mode 6T60TM QUITTE M QL mAUNed BB S "La mode" 6UTH& 605 U6 [HHS!
2 (HUMHSLILIL LS.

A : Latin
6V 55 60T

B : French — (Correct Alternative)
LN QedTs:

C: Greek
HCI&H &L

D : English
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QLHBIH6VID
df - stands for )
df - eTETLISI GSM&EEDE!.

A : Degree of frequencies
Degree of frequencies

B : Degree of freedom — (Correct Alternative)
Degree of freedom

C : Degree of free data
Degree of free data

D : Degree of force

Degree of force

On liquidation, debit the realisation Account and credit each Asset Account as per :
6(IH Bl MI6U60T HemeVLILNETO LTSI, 6] 85600T6:G LIMHMI LDMMILD RaIQ6ITIH QFMTHS!
&H600TE (G 6UT6LD BLDE600TL6UTmI 616 emel&HSLILGRMS!.
A : Cost value
L& G160
B : Market Value
FHens LG LILTN6v
C : Book Value — (Correct Alternative)
LS55 G L1LN60
D : Liquidator's Value
FHenevliLmerifler oG L1LN60

Which concept does not mean that the asset will always be shown at Cost Price ?
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QEFME S HEM6T SN 358 HLILINCEW &ITLL CHemeuuilevemev 6T6dTmI o MILD
SHHE! 6781 ?

A : Money measurement concept
LieooT LOGLILl6uITenT S(h & S
B : Materiality Convention
9 _600T6OD FMIHS LOTL]
C : Cost Concept — (Correct Alternative)
SL&ES HBHSE
D : Dual aspect concept
QULEL &([BHSHS! (LD
Preliminary expenses are transferred by the vendor company at the time of absorption to :

BININGS 6T(H &SI Q& TeTEHLD CLTE llM@G LD BHMILD QGTLESHE QF6V6)&H N6l 6ThIE,
LTOHMD QFUWLLGSRmS! ?

A : Purchasing company
QUMMIGLD BlmIoLD
B : Preliminary expenses account
QBTLESHF G&F6V6)&H6T &H600Tdh S
C : Equity shareholder's Account — (Correct Alternative)
Fe_flemld LIBIGSTIIS6T 860015 G
D : Profit and Loss Account
@6uITU BL_L 560015 S

Fixed Assets - Rs. 3,00,000
Current Assets - Rs. 1,00,000
Debentures - Rs. 50,000
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Contingent liabilities - Rs. 1,00,000
Calculate purchase consideration.

Bl6e6VWITEOT Q&FME S — . 3,00,000
BLLL Q&FMTHS — em. 1,00,000

SLeofL () LSS LD — . 50,000
Bl&L6ETT QUITMILILIS6T - €. 1,00,000
Q& TET(LNG 6V LDMILIUIETE0T 85600155 (h)

A : Rs. 4,00,000
em. 4,00,000
B : Rs. 3,50,000
em. 3,50,000
C: Rs. 2,50,000 — (Correct Alternative)
em. 2,50,000
D : Rs. 5,00,000
em. 5,00,000
Shares of the vendor company held by the purchasing company are closed by purchasing company by giving debit to :
QUMMHIGLD BlMIDD MG BIMID LIThIES506T 606USHHH S, 1605 (PI&5SISH Q&HTeTeUSHM S,
6TIH S S600TEHH6V LIMMI 6m6U& S LILI(HILD ?
A : Business purchase Account
QWML Q&ITET(LNS 6V 560015 &
B : Goodwill Account
BOHGLIWIT &600T&S &
C : Liquidator of vendor Company — (Correct Alternative)

el LIE» 60T [B1MILD S56M6VLILITETIT 8560018 (S
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D : Cash Account
QUM&HSEH &600TeH S

Any decrease in the value of assets, at the time of internal reconstruction, will be charged to :

BloILD 2 6T Leoor FenloLILN et CLIME), Q& TS S S6r160T G emn LD oG LiemL 6TThIG LIS W
Geuevor(hLD ?

A : Goodwill Account
BOHGLIWIT &600T5 (&
B : Revaluation Account
LIS LN (h) 860018 S
C : Share capital Account
(LDSH6V &FH600TH S
D : Capital reduction Account — (Correct Alternative)
ELDGL & 60T (GH6MMLIL| &H600TSH (S
The tariff barriers on International trade :
LieoTeoT ITL_(h eUmeool LIS H 6V eulfl &FLDLIHSLOITET &60)L_&6IT 6T60TLIS :

A : Import and Export tariffs — (Correct Alternative)
Q&GS LHOID gHDIDG eUfl&eT
B : Export and Import Quotas
JOHDOG LHDID QWESLS R&ISEOSET
C : Financial Control
BI& & &L Q\LILTH 6T

D : Import and entry procedures

QM&HGS LS LDHMILD BHIEOLOE| VI (LNENM & 6T
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The IBRD plays an important role in poverty reduction in

FCL GMILILNL (D 6TerT 6TH S BMT(H) 8 EH &8 MeoT Umienlneml LAlILIGH6V LDMIGL L emLOLIL
LOMMILD G UL (N&&Meor LieoTeorTL_(h eumIS) (IBRD) &60T& LIMIG6 160U aULpHBIGHR S ?

A

Middle income countries alone

BHS ST eUBLOMeT BT(H&EHSE L (LD

: First world countries alone

2 6V &6oT (Lp6dTEoT6001 HIT(H&ET LOL_(hLD

: Developed nations alone

eleTibhS BTH &HEH&E WL (LD

: Middle income and credit worthy poorer countries — (Correct Alternative)

BHSST UIBLOMETLD LDMMID &HL60T QLM / QFVIHS &GS U 6T6m Jemlp HT(H 86T

The first generation reforms include :

(NG 6V Hem6V(LNemM QUITHETTESTT FTH (HESH 68 MeTenTH 6T 6T60T LIS

A

Liberalisation of Industrial Licensing and opening up industry to foreign investment — (Correct Alternative)

SITITET LDUWLNTEHSEHHESTeT Q5 TLolev 2 o mmid CQeleflBITL (B Q& TLI6V eL6V & 60T
SIQILOG)

: Labour Legislation

Q&MU HeVEF &L L hIS6T

: Extending reforms to state

LOMTBlEVBIGEBESHTET QS TLT QUITIHETTSTT &5 (H5H S M5 60T

: The functioning of the legal system

(B [BITL_L4.60T FLL [B6ML(LEMMEN I (WDMEIG LM S SIS 6

When was World Bank established ?
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2 & MRS eTLICLIME CHMHMmIeNS&LILIL LG ?

A : July, 1944

gOem6v, 1944
B : July, 1945 — (Correct Alternative)

gO®6m6V, 1945
C : January, 1945

seoteulfl, 1945
D : January, 1947

s eoTeUf], 1947

was set up to financially assist in the rebuilding of war affected countries.

Gumleormev LITH &S LILIL (R eTer BT &HemeT FTLbBSSIeUSMHGSD BIH 2 g5l oeflliugmHE&LD

gOLUMGSSLILLL BlmIeIeTLD 615 ?

A : IBRD — (Correct Alternative)
DMl &L LemLDLIL], 6UeTIE S LieoTeorTL_(h 6UMkIG)
B : IDBI
@QBHH W QML aleTIES aumniS
C: RBI
@b W flFTel eumiG
D : NABARD
afleUF MW LnMHMILD KT eUeTIEFS CHF W 6UBIG)
IBRD is also known as :
LIS FenLLIL], eUeT &S LieoTeoTTL(h eumhIH 6T6OTGY LD 60D ESH6VITLD.
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A : EXIM bank
JHDLE QW& GG eumiG)
B : Corporation Bank
STHLILGTE 60T 6UMmIG)
C : Standard Chartered Bank
evLmeorLy( &ML LT eumi&
D : World Bank — (Correct Alternative)

2 V& GUMIK

Credit worthiness of the customer is based on eligibility criteria for credit card.
QIT6] LML QLMIESDES 6UTLL&H 608 W TeTf160T SL60T DG LI &GS eUTLDL
FMIBSSI.
A : Loan
&HL60T
B : Asset
Q&EFMHSI
C : Income — (Correct Alternative)
6 ([HLOTEOT LD
D : Liability
QUITMILIL]
Moody Investor Service belongs to which country ?

eIy @) GOTQEUEVLITI &Jeien 6Th& BTL 6L CEFIHHS! ?

A : India
@bEHwr
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B: UK
w,.Gas.
C: China
60) G- 60TIT
D : USA — (Correct Alternative)

Wl,.6T6M.6J.

The Automated Teller Machine introduced in the year :

S ITeof LIS Lieoor D 6T(H& G LD THH T Ml (LN & LOmeT 24, 600T(h) :

A 1975
1975
B : 1970 — (Correct Alternative)
1970
C: 1971
1971
D: 1976
1976

Expand CRISIL.
CRISIL 69 ifl6ums: & 5.

A : Cash Rating Information Service of India Ltd.
Cash Rating Information Service of India Ltd.

B : Credit Rating Information Section of India Ltd.
Credit Rating Information Section of India Ltd.

C : Credit Rating Information Service of India Ltd. — (Correct Alternative)
Credit Rating Information Service of India Ltd.
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D : Cash Rating Information Section of India Ltd.
Cash Rating Information Section of India Ltd.

What is the minimum amount at which commercial paper can be issued ?
AUTSHHE HTHEGHFH L 2 6T GHO MBS LILF Q& Tet 8 6T60T60T ?

A : The minimum amount for commercial paper is 5 lakhs — (Correct Alternative)

UJHSHSH 361600 MG EHSH T GMMBSLILF QFHTend 5 UL_FLD
B : The minimum amount for commercial paper is 5 crores

UJHSHSH 361600 MG OHH BT HNMBHSHLILTF Q&HTens 5 CHITL
C : The minimum amount for commercial paper is 1 Lakhs

UTHSHH 36600 B EHSH T (HMMBSHLILF QFHMend 1 UL_FLD
D : The minimum amount for commercial paper is 1 Crore

UJHSHH 3,6)600T MG EFSH 5T HNMBSLILTF QST 1 CHTLq

Indian Companies were allowed to issue Commercial papers upto
finance.

@BHH W B MINKISETTEV GQeler Uil 9N &HaLILIL L 61600118 HT6ITS 6T TeoTS!
INH HELILL L aumS BIFHUlley 2 F5UL g G LILN6 615560607 F&615LD ?

A:25%
25%
B: 50%
50%
C:75%
75%
D : 100% — (Correct Alternative)
100%

% of the maximum permissible bank

%
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As a person, who is responsible for conceiving the idea of forming the company is known as :
(b BlMINGMS 5607 FH60SH UMV &([HEUTHE 2_(HEUTEH G LD HLIEMT eTeleUmmI
AMWIU@S DIy ?

A:

Registrar

LIS\ eUmer

: Managing director

GLDGVITEOOTEMLD @) U1E @GBS

: Vice-chairman

SHI60)600TS & 60)6V6UT

: Promoter — (Correct Alternative)

G mmmiedLILImeTy

Which is the reliable characteristic features of debenture ?

@) 6me6US6rTleL eTemed SLeof (B L&SHTHE 6T FNmLILIWLEVL|S6T TS SHSLILIH L6 ?

A:

Debenture is a bill of receipt which acknowledge the reference in record

SLeofL B LSS0 6TedTLIS TS FTeoTmTHELD, 6THTEHTVESH MG TET RLIL|6NEE
G LTS 2 6TeTSl.

: Debenture 1s a instrument for future evidence

&Lt LD LSS TLD 6T60T LIS 6TH TS TEVE H M ETE0T 24 6)600TE &FITEOTMTESLD.

: Debenture is a bond which acknowledges the loan advanced by third party creditors to the company — (Correct

Alternative)

SLeoFL QL LISSHTID 6T6dTLISI 62(IH 2L 1LIINMTEGLD. GLOSILD @606 eLNGTMITLD HITLIL| & & S L_60T
QILPMIS BlMING STV THTHTVSH MG RLILem & W efl&EsLILGS MS.

: Debenture is a bank book tendered by RBI

FSLeofL_(hL LISHTLD eTedT LIS eUBIS LS5, S FlETel eumGlulmey eflesasliLbGSmst.
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The main purpose of convene a statutory meeting is for approving :
FLLLTO Gl LS5 60T (INHHIWI 62111560660

A : Statutory Report — (Correct Alternative)
FLLL T M &Hens
B : Appointment of Auditor
5600118560085 WITEITIT [B]UILO60TLD
C : Special Resolution
SIS SFLOmeTLD
D : Declaration of Dividend
LIRSS MWD LS [&60
Promoters legal position is .
CamHmeLILIMeTT FL_L Blemev 6TedTLIS!

A : An agent
Wa&alr
B : A trustee
LTSI &S TeU6VT
C : Persons in fiduciary relationship — (Correct Alternative)
FLL 2 me|lpenm 2 6TeT HLIT
D : Sub-agent of company
SIEmETT P& BlDINSF 6

Whenever a company wants to alter its memorandum for changing the place of registered office from one state to
another, it has to plan :

@@ BMIDLD LT SNEUVSHSMS Q@) LDTHIVSH O BHS LMHEMT LDTHlVSHH MG ITMHM,
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emLIL] (PemmMBWL L H([HES 6ThS STLOMeTSHMS BlemmBaumm Ceustor(HLD ?

A : Ordinary resolution
FTHTI600T HIJLOITEOTLD
B : Special resolution — (Correct Alternative)
ALY BFLomeorLd
C : Resolution requiring special notice
ALy nlell&Hens GgHemalllLi(hD SFL0meorid
D : Unanimous resolution
ROUWSHS &BHSHSINL ST 0METLD
Reserve Bank of Indiais a :

@S W flFTel eUmIS) eTeTLIS

A : Statutory company — (Correct Alternative)
FLL ST eLN6VLD 2 ([HeU TS LILIL L S L6oT]
B : Foreign company
SWBTL(H &G L6
C : Holding company
N9 L1 8 &G Lieof]
D : Registered company
LUHle) QFWWIUL L &6 Lieof]
State which one of the following is not a Capital Asset ?
LS edTeu (HeueoTeu MMI6L 6TSI eLN6V S 60T QI EFME S @) 6V6Mm6V ?

A : Goodwill
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BOGLIWIT
B : Land and Building
Blevld LDMMILD S 1G L LD
C : Plant and Machinery
QUM LHMID @UWIBSH LD
D : Stock in trade — (Correct Alternative)
aU600 8 I8
No deduction shall be allowed under section 80 G in respect of donation in cash of an amount exceeding the following :

QLMHS UBHLOTerSSHeNmBS &HL0l6s Liifle] 80G —uller HLp O FT&HSHINTS QFaSS W
BT &H MM &G LN6TeU(IhLD 6 &HTen &6 GLN6L &HLNlEH el S uilsvemev.

A : Rs. 2,000 — (Correct Alternative)
em. 2,000
B : Rs. 5,000
€. 5,000
C: Rs. 7,500
em. 7,500
D : Rs. 10,000
em. 10,000

An individual sold a residential house (Long - term) and made investment in Residential house, under which section he
can claim exemption ?

SefIBLUT el @6 GYulBaEGLD af el (HeorL &mev) allHm 2860 61(BLOMETS 60 S
LMEMTIH GLQUINHEGD T 196V N&565(H Q&FUIeSE6TTEV aUHLOMeT aulfle FLLLD 6THS
Lfleflesr SLp aurfl aflevd @ QLM (WOLQULD ?

A : Section 54 — (Correct Alternative)
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LNy 54
B : Section 54 D

LNfley 54 D
C : Section 54 F
LNifley 54 F
D : Section 54 G
Nifley 54 G

As per section 6 of the Income Tax Act, an Individual is treated as resident if :

auLomeor eurfl FLUL 1 L9ifley 6 —ulleoTLIL, 6p(H HeoflBLIT &G Ul BLILIQITTS &(HS
G 6u600T(HLOITEOT 6V :

A : he has stayed 182 days in India during the previous year — (Correct Alternative)

(LNHEM S UL 31,600T1q.60 182 [HITL_&6T @ BT UIMallel &mGBuUl g Geusoor(HLD.
B : he has stayed 182 days in India during the assessment year

aurfl NG L1LImeoorIq.6V 182 BTL_56T @ hHSH wmellev SmIGBUIN[HE s Ceusvor(hL.
C : he has stayed 182 days in India during the calender year

[BITL_&TL_L9.UIT600TL.60 182 BITL 86T @hHwmelley smis ullmasas Ceusvor(h L.
D : he has stayed 182 days in India during the academic year.

FHevalWmeoorLq eV 182 HITL 56T @BHWwmallev smiG ulmess Gelevor(hLd.
Under new tax regime (AY-2021-22) Interest on for self-occupied House Property is :

el G LILImevor(h (2021-22) —6L LGHW eufl elFLIL] (pemmuilev (Regime) Q& MH S
GLQUNHLIL & ET60T &L_60T LSS T60T UL LY :

A : exempted upto Rs. 30,000
erp. 30,000/- euemJ auifledlevss &
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B : exempted upto Rs. 1,50,000
em. 1,50,000/- euenJ auiflallevs: &
C : exempted upto Rs. 2,00,000
erp. 2,00,000/- euemJ aufleflevd &
D : not allowed as exemption — (Correct Alternative)
afleflevd & QUM 2InGH uievemey
Examination remuneration received by a teacher from a person other than his employer is chargeable under the head :

@@ WA FlWT seral eranmeoflLleveural, LN lasT@mel flL BB QUMD G565 8 mTeoT
2 empLILLEHWLD LeTau@ld Hemevl 16T Sb auifleE@ 2 L LB SSLILGSR DS

A : Salaries

FLDOLIGT 6U(HLOMEOTLD

B : Business or Profession

QAUISSHEH 3|6V6VS QSMLA6L 6(IHLOTETLD
C : Capital Gain

ELN6L S 60T 4,5 U 6U([HLDITE0T LD
D : Other Sources — (Correct Alternative)

@\ &[T 6U(HLOITEOT Ml & 61T

The moving advertising is called :
B (HLD N6 LITLD 6T60T LIS

A : Newspaper advertising
QEWH GG meT efleTdLrLd
B : Sky advertising

eUmeor elemnLIyLD




64

65

64

65

C : Journals advertising
@ &LD56T eflaTuyLD

D : Vehicular advertising — (Correct Alternative)
26175 edlemnLLd

Which one of the following is not related to consumer protection ?

o ML G eueTaimmley 6Th& e6Tml HBSHTCIMT LUMTSISTLL FLLSEHMEG LILMTHLLL S ?

A : Sale of Goods Act 1938
FU&HG ellMLIemeT &FL_L LD 1938
B : Food and Drugs Act
9 _600Te LIQIITIHEIT LDMMILD DBHHSH GILITIHET FLLLD
C : The Essential Commodities Act
QLD FF&HEGS FL L LD
D : Companies Act 2013 — (Correct Alternative)
Bloin &L 2013

Exhibition are an example for

@5 6L QUTHLSTL & eTeueUem S Ulmeot edleMDUTSFH MG 6T(H S5 SHI1E5HTL(H ?

A : Indoor Advertising
2 T elemuyLd

B : Outdoor Advertising
Qeuerfl eflemhurLd

C : Direct Advertising
GmT ellemUyLd

D : Promotional Advertising — (Correct Alternative)
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LIGTMLnageoTev ellemnuIyL

How much percentage of the cost media is given as commission to the advertising agency ?
JeTLOLIT (LNS6UTHEHE G 6TeUaI6Te| F&HTP SN &L L6vorld (SLl6)) eNeTLDLIT & T8 60T Ml & 6T
Q& T([H &5 60T 60T ?

A 10%
10%
B : 15% — (Correct Alternative)
15%
C:20%
20%
D:25%
25%
What is B2C in marketing ?
Fhen g Wiluledlesr B2C 6r6dTLI S

A : Buyers to Computer
QUMTMHBIG LT to & 600t 160

B : Business to Computer

WIMUITIFLD to & 60011 60f]

C : Business to Consumer — (Correct Alternative)
QlWMUMTLD to BIS6UTGeUMTT

D : Balance to Consumer
Ffl&L(H 6L to BISTECUTT

Total cost Rs. 60,000
Fixed cost Rs. 30,000
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Sales Rs. 1,00,000
Margin of safety

QUTHSHF QF6eva] em. 60,000
Blen6vE GlF6V6)] em. 30,000
eflMLIeneoT . 1,00,000
LUmsIsmUL elerflinLy

A : Rs. 70,000

. 70,000

B : Rs. 57,143 — (Correct Alternative)
em. 57,143

C: Rs. 42,857
€. 42,857

D : Rs. 90,000

er. 90,000

Capital Rationing decision taken by the firm having 4
N6V S 60T BIWITW (LAL.6 BloieleoTLd 6T(h LIS '

A : Short-term projects
GMMIHS SIT6V HL_L_MHIFH6T

B : Long-term projects
H6uoTL. &6V HIL_L_MIG 6T

C : Ranking of the acceptable Investment projects — (Correct Alternative)
JHMISGE&HTETETE Fnlq Wl (NG5 (h S Lmisefler 7 auflens

D : Group of Investment projects

W W50 HL_LBIs6T
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The overall P/v ratio of ABC Ltd. is 60%. The marginal cost of product x is estimated at Rs. 50. Determine the selling
price for product x.

ABC SIAIQLL_1q.607T (P/v) el &I &LD 60% QL& LD. SWITHILIL] x —@)60T @MIS Blensv Q&Fe6v6)] €. 50 6TeoT
LS UL LU @QeTersl. WML x —@) et edldLiemeot aflemeveml SITL0Metl&H 86 L0.

A : Rs. 90

em. 90
B: Rs. 115

em. 115
C: Rs. 125 — (Correct Alternative)

em. 125
D : Rs. 135

em. 135

The break-even chart depicts .
FLOUTLQ euemyULLD A&5FL1LS!

A : Sales and profit relationship
el MLIEM 60T - @) 6VITLILD -2_ L 60T LIMT(H)
B : Cost-Sales-Profit relationship — (Correct Alternative)
QFeva-allMLImeT-@ 6L 2 L 6TLIM()
C : Cost and Profit relationship
Q&F6v6| LDMHMILD @6eVTLISH 6T 2 L 6oTLIMT(H)
D : Sales and Fixed Cost relationship
eflMLIemeoT LDMMILD LDTMIT QFeveNler 2 L edrLIm(h

The zero-base budgeting is simply extension of the
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Lpe2edl il 91 LI S L LD FMSTIeoTONS 6T&Hslem LW a9 fleums &L

A : Master Budget
LOMENVL T LILQSL
B : Functional Budget
QFWeLLML(h ULQggL
C : Cost Benefit Analysis — (Correct Alternative)
Q&F6V6) LIUIGOT LIGLILIMUI6)
D : Cash Budget
QUM&HS LILQL
Which of the following cost is also known as overhead cost or on cost ?

LY eTeupLd Q&Fevallev 6THE Q&F6v6] GLOGVHI6mEV ClF6VE6)] S{6VVE! CIF6V6) 6T6OTMm)
MNESLILGRMS! ?

A : Cost of direct labour
GBIy QS TleTeTT Cl&F6ve
B : Cost of indirect labour
LDEMMUNG Q& TLOlVTET Gl&F6Va
C : Direct expenses
CBINS QF6V6)]
D : Indirect expenses — (Correct Alternative)
LD MULN S GC1F6V6Y
The concept of differential costing is vital in and

CaumLUM &SI QFevailerid (auemsUT(H QFevallerd) 6THS L LILIEDL 3|LDF IS 606
Q&ITeoOTL H(HSHTSH SMHSLILGRMSI ?
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A : Organising, Controlling
L], SLOULG S SIH6V
B : Planning, Decision making — (Correct Alternative)
SILLIAGO S, P16 T(HEH6V
C : Controlling, motivating
SLOLULUB S SIS0, 2615 G655 60
D : Planning, Organising
S LG SH6L, 2emLOLIL
Which of the following is not example of "Selling overhead" ?

"ol Huemerr LIBIS®H QEFevallenrsH M &" & L& 5 600TLeumI6 61560607 6T(HNSSHIHEHTL LM Fan D5
Fo TG ?

A : Salaries of salesmen, Salesman commission
el LIemeot e ifledr &L Liemid, ellMLIemeor L5 meoT SLdle
B : Cost of packaging, Commission on sales
SL(HLmer QFevey, allmuenent LS5 mer Sudle (& Lil6q.607)
C : Transportation cost, Advertisement cost
CUMHGTH S QFeva), lemDLIT Gl&F6V6
D : Cost of packing (packaging), Transportation cost (Despatch) — (Correct Alternative)
FSL(HIL0ITeT QF6eve|, CLIME TS S QF 6] (QeueTflGL Q&6 5 6V)

The following are SIPCOT financial assistance except :
FLpalBeUeTelMMI6L 6Temel FILISTL (SIPCOT) BIHEF CFemeals6T @)606m6V ?

A : Term loan under IDBI
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IDBI —uWiedr &ML L &5Mmevss 85L_60T
B : Term loan under IFCI — (Correct Alternative)

IFCI —ufledoT GMILILNL L &MV &L_60T
C : Underwriting

RULOIE
D : Loan for an employing Repatriates

STW&LD HHLUOLINCWMTHEHSETer CaUsmey eUTUILIL| &HL_60T UF S

Which bank was the first lead Bank to extent financial assistance to the small-scale industries ?

6THS QUMBIH (NS (LNHEVMTSH GMI QS TNV S &L 6T 36flHH S ?

A : SBI — (Correct Alternative)
SBI
B : Canara Bank
S60TJIT QUM
C : Indian Overseas Bank
@ HH W60 epeUTE 66Uk
D : Bank of India
GUMIS &Ll @ HSHIWIT
Which of the following is not the problems of sickness of small scale units ?
LS 60T (HeuenTe HMIET 675 HedlauemnLbs FmI QS TN 3i6V@& 86l LI JTEFen6oTSH 6T @)606m6v ?

A : Management deficiency
GLD6VLITEDOTEM LD &6 MLIT(H
B : Inadequate Finance

B GLIMTE TeuoT60)L0
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C:

D:

Selection of location — (Correct Alternative)
QLD CGEH6| Q&FUISH6V

Marketing Problems
FHeNSLILIH & 5869601 LI [J& F 606078561

District Industries Centres are located in :
LTIl L Q&MHl6L emnuILD 6TMHIE emn& S LI (H6Tens! ?

A

: Each district — (Correct Alternative)

66UGQUMT(IH LOMeU L L SH eVl

: Each state

QR6UQEUTH LOMHI6VSH eV

: Only in selected districts

SO L imell LEHev 0L ()LD

: Only in selected states

SO L inmmlevsHlev 0L (HLD

Entrepreneurship Development Programmes (EDPs) are offered by :

Q& MLEl6LLemeTCaU T (LN6TGeTMM HIL-L LD LIMM)| eULDBIG IS

A

Only Government Organisation

& BlmIaIeTHI&6T L (B0

: Private Organisation

6ol W [B 0161607 M1 &5 6T

: Government and Non-Government Organisation — (Correct Alternative)

TG LDMMILD T8 FTTIT B 0660 MBI & 6T

: Only Non-Government Organisation
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S5 FMTIIT Bl MIGU6THISET L (HILD
The standard deviation of a symmetrical distribution is 3. What must be the value of the 4 th moment about the mean in
order that the distribution is mesokurtic ?

(h FINEFFT LUMIGBL 19607 Blemeulmeor elleud6v 3 6Teofl6V, @ UIELBleMEVS HL6mL LIThIGL 1 60T
Frr&ifl auiflenFullesr 4618 560015 S 60T LOG)LIL| 6T60T60T ?

A: 16
16
B: 256
256
C: 48
48
D : 243 — (Correct Alternative)
243

The combination of two or more series of overlapping index numbers to obtain a single index number on a common
base is known as :

@ 6oor(h) LDMHMILD HNSMG LD GLoevmer QG TLfleoT GF &M Uil spedTMemevor b & mMIUT(h
6T600T&H 60)6IT Q1 85600t (h GILIMSIEUTeoT 119 LILIemL_UIl6v 6@ & MIUTL_(H) 6T600T600T T8> Q&5 IT6TOT [J &6V
6T6EOTLI6DN & 6T6U6UITMI S MEVITLD ?

A : Link Relative Index
NemeooraQs5mLT GmIuih
B : Aggregative Index

QEs GUlui®h
C : Ideal Index

e &mlui®
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D:

Splicing — (Correct Alternative)
LIl ud) 6 60T & 60

The first development of theory of probability came from

Bl&DLST6 CHTLUTH GLUT®H (W&E6e96v

A:

Mathematicians

55600118560 U6V TEIT [T 55 61T

. Scientists

SimleNwley oinlEp e

: Politicians

TR WVEUTH 6T

: Gamblers — (Correct Alternative)

GSTLLESHTTISHET

A Time Series is a set of observation arranged in

GBIy auflem& eredTLIS GO L 2 MmMICHITE &6V

LS LD.

A

. Statistical order

LjeTerfludlulev (emmuilev

: quantitative order

6T600T600T 15560085 (LDedY M U6V

: Mathematical order

FHeootlgelluley (Lhemmuilev

: Chronological order — (Correct Alternative)

&mev auiflens (pemmuilev

6TeTLIQUT S 6L LD @) (BHS eUbHSHS!.

order.

WenmMUileh QBTG EHLILIB IS
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There are important measures of relative skewness.
QML CHITLLEH 6V (WNEH W I 6maf(H) 86T 2_6TeTeoT.

A:

— (Correct Alternative)

N 3 L D W W NN

Arrears of preference dividend will be paid only when :

(WeTeflemin LIMISTSITW Blavienel @LGCUMTWS LMD QF&5ELILGILD :

A : Preference share capital and Equity share capital are returned in full — (Correct Alternative)

(W eTen flemLn LIMIEG eLN6V S 6oT(LNLD, CIHFEMLD LIMIE CLAGVSE0T(LOLD (LN 6mLOUITES S HLILI
QENGHH U QLMD
B : Preference share capital are returned in full
(6Tl flemln LIMIE eLN6VG60TLD, (LAWDEMLOWIMTS HIHLILI QFa&H SN QUITWDS!
C : Equity share capital are returned in full
GBIJeoLD LITHIE CLN6VS60TID (LNILREMLDWITS HHLILN QEFasHSID QUMW S
D : Debentures are redeemed in full
&L LUSH T (DWenoWms: HGLILN Qs sIh QUMW SI
In the case of member's Voluntary winding up the liquidators(s) is/are appointed in the :

2 MILILNeTI86T ST TIed &HeneulILNeTCUMS QFMHmMS allMHm QUITMILIL] & 6m 6T
Fl&L(HeUsMHEHTeT I aIeVenT BIWLN&HS 6THS ol L&H 6V (N6 6T L LILI(HID ?
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A : Creditors' meeting
&L GUTTEMT&H 6T Fnl_L_LD

B : Directors' meeting
QW& GBI&HET Fnl_LLD

C : Shareholders' meeting
LIMIGSTTT&HET Fal L LD

D : General meeting — (Correct Alternative)
QUITEIS Fnl L LD

The amount realised by sale of assets is Rs 3,00,000 and the amount due is Rs 3,40,000 including
Rs 10,000 as preferential creditors. Then, if the liquidator is entitled to a commission of 3% on amounts realised and
2% on amount distributed among the unsecured creditors, his / her remuneration will be ;

QEMES&HSHm6T lMHMEET LNV FemL 58 GQJT&HSLD ep. 3,00,000 LDMHMILD Q&THILIL
BG6U6DITIYU Q& Tem&s €Mh. 3,40,000 —6V (LN6OTEN If 160D &5 L_6OTTET [J&61T160T Q& M6t &

em. 10,000 GEIH & 2 6Temgl. LM @& &Heordems: &Fifl S (DD SIQIVT SH60TSH LemHUILDMTES 3%
QMM QUMLILGUSH VI LDMMILD 2% Q&5 Ten & 66l GUIMTE) 58 LiILI(HeuS eviLd (LI 6m 6vor W mm
FHLGOTTOTI&HEHE (&) QUMIDLIL F55)60 6UTH 26mGH)UILD 6T60T6OTeU TS @)(H& G0 ?

A : Rs 14,800

er. 14,800
B : Rs 14,706 — (Correct Alternative)

em. 14,706
C: Rs 15,800

em. 15,800
D : Rs 15,706

em. 15,706
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First item in order of payment to be made at the time of liquidation of a company under sec 325.
6(IH BlMILDLD U/S 325 -60T LI S606V&H&LILIGWNMELMTS, (InSH6N6V QFa &5 Galeuorlqulg) :

A : Secured creditors — (Correct Alternative)
LN emeoor W & L_60f 5 G TT & 6T
B : Preferencial creditors
Wersaflenln &L 6ol HC5 M6
C : Liquidation expenses
&H66VLIL] QF6V6)SH6IT
D : Debentures
FHLeofL_(hL LSS T
List H Shows Account.
| Leauemevor H &H600T&H 608 HTL(HPMSI.

A : Deficiency account only
LIMMITE G 60 M &He00T&H 608 0L (h LD
B : Surplus account only
LOl60Y &8> &600T8>6m 5 DL (H)LD
C : Liquidator's final statement of account
FHeneul1LmeTfleor @mIG &600Td & M &H6e0 5
D : Deficiency or surplus Account — (Correct Alternative)
LIMMTEGNM 6VeVG! L6 &8 560015 G
International Liquidity encompasses.

LI6oT6oT ITL_ () L1600 LIL|Lp &80 (Liquidity) 6T60T LIS 6T6M& 2_6TeTL_SH&HI WIS ?
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A : National and International Reserves

GHF W LoMmMILD LiesTeoTTL(h BISIUNHLIL
B : International Reserves alone

LesteorTL_(R BIS WL LGB

C : International Reserves and the facilities for International Borrowing to finance the BOP deficit — (Correct
Alternative)

LiedTeoT T (R B W LIL| LDMHMID HUIBITL () Q&5 S Blemeuulledr LIMHMmITE & emnmenul
Fifl QEFWIW UMM LILL L LI6OTEoTITL. L 6emeNleVITenT &L 60T

D : Subscription by member nations of International Monitory Fund(IMF)
LiedTeoT ITL_ () LleooT BISIUISHMEsmeor 2 miliL| BT &S6rler Bl1S LikiserflliL
At the post shipment stage the commercial bank provide finance normally for a period of :
JOHMINGH &L LHemns W Bleneuuilev 6160of18 61MHIG UITEOTSI & MHITI600TLOTS 618860607 &ITEVLD
BIS 2 g6l apnGHDnS ?

A :1year
1 QUL LD
B : 90 days — (Correct Alternative)
90 BITL_&6IT
C: 80 days
80 [BITL_86IT
D : 2 years
2 QU(HL MBI 6T

Expand ECIE :

A : Export Credit Investment Exporters
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B : Export Credit Industrial Exporters

C : Export Credit Insurance for Exporters — (Correct Alternative)

D : Export Credit Information for Exporters

Match the following :

List - 1
(Countries)
(a) Swviss
(b) Brifish

(c) Japanese
(d) German

(i)
(i1
(i
(iv)

List - 11
(Cumrencies)
Yen

Dutch Mark
Pound
Franc

Sipgeton_cumMied Ffhwumer Gensmmenil GCHIhHE%SHSHaD

IIL_L_6 6 600T - |
(BIT(H &6iT)

(@)  &ellew

(b) 1Nl qei0

(e)  soriumsoiliL

(d)  ClefLoeor

(i)
(i}
(ii)
(iv)

SiL_L_6v6m 6T - I
(BT 6TBTLLILD)
GliLi6uT

L &Lomjé
LI6)|6B0TL_

Lpmmié

A (a) - (1v), (b) - (i11), (c) - (1), (d) - (11) — (Correct Alternative)
(a) - (iv), (b) - (iid), (c) - (1), (d) - (i)

B : (a) - (iid), (b) - (i), (¢) - (1), (d) - (V)
(a) - (i), (b) - (ii), (¢) - (1), (d) - (iV)

C: (a) - (i), (b) - (i), (¢) -(iii), (d) - (iv)
(a) - (i), (b) - (i), (c) -(iii), (d) - (iv)
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96

97

95
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D : (a) - (iv), (b) - (iii), (c) - (ii), (d) - (1)

(a) - (iv), (b) - (iii), (¢) - (ii), (d) - (1)
With effect from 1.1.1995, GATT was converted into an international organisation called
1.1.1995 (Ln& 6V GATT 6(1H LI6oT6eoT ITL_(h) BlMIaU6oTInmSs IDMMMUILIL L &I 3Gl 6751 ?

A : IBRD
oM FreminllL], eleT &S LieoTeoT T () 6umkIS)
B : MNC

LIeoT6oTTL_(h) ] M1 6L 60T B & 61T
C: WTO — (Correct Alternative)

2 & NWITLITY BlmiIeTLD
D : EXIM Bank
JODLOG QM&EGLE euniG)
Who controls the Capital Market in India ?
@ BB W M6V eLPEVGHET FHenSHenW WMTT SLOLULUBSSBMTISH6T ?

A : SEBI — (Correct Alternative)

Q&
B: RBI

flFFeu eumiG
C: IRDA

85.217.19..6J.
D : NABARD

BLITTL

SENSEX represents :
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QEFeTAFSH6 LNTH UL :

A : 20 Companies stock
20 151 M)162160T 6185611 60T LIMIG 861
B : 25 Companies stock
25 1Bl M16) 60T BI85 61Tl 60T LITHI(G; 8561
C : 30 Companies stock — (Correct Alternative)
30 Bl 0161 60T 618561l 60T LITIE; 8561
D : 35 Companies stock
35 Bl M6 60T M1 85 61T 60T LIMI & 5561
Which one of the following instruments structured by [FCI to meet the investor's preference ?

IFCI (p&6SL_Lmifleor (hetteniiflemin GLpsevorLMMleL eTh&HE &HHelleml FITTHSI6TeTS! ?

A : FD Bond
FD LSS LD
B : Savings Bond
Gl LSS T
C : Regular income Bond — (Correct Alternative)
QSITLIJ eU(HLOMeoT LGS FID
D : Index Bond
GO LSS T
'Gift - Edged Market' also known as :
"L TGl FHMS" @6UeUTMTHELD S{6eMLNEEHEVITLD :

A : Private securities market




el Wmy USET Fhen s
B : Public securities market
QUG LISHT FHend

C : Government securities market — (Correct Alternative)
3|T& USHT FHenS
D : Semi-Government securities market
LUTEH-9T8 LSS &Hens
As stipulated by, SEBI the maximum brokerage that can be charged is :
SEBI 6U@& & al6TeT all@&eflerTLlg S &L F HTE Q5T

100 100

A : 1.5 percent
1.5 #5650
B : 2.0 percent
2.0 556150
C: 2.5 percent — (Correct Alternative)
2.5 556510
D : 3.0 percent
3.0 55650

to1 ol The audit is less expensive and suitable for small concerns :

@\HG & 60011856M&WITETS GHMHSH GFevalleTnmeTgID LDMHMILD F\ M Bl M6 60T HIS 6 & & LD
QUITMISSLDMTEOTHTGSLD :

A : Continuous audit
Q&ML 56001156005
B : Final audit — (Correct Alternative)




@ MG & 600156005

C : Balance sheet audit

@ @LILYBlemevd GMILIL| &e6vofl& e s
D : Cost audit
L& NS 556001185:6m85

102102 "'Which one of the following is known as backbone of auditing ?

LD & 85 T600T LI60Y6) 561160 & 60011856085 (LN SHIQSHEILDLITSEH 66THIGeUS! 6T ?

A : Internal control
918 &L_(Huum
B : Vouching — (Correct Alternative)
SFMIE FLEO
C : Internal check
9|&HF CFITH6060T
D : Internal auditing
&5 H600l156m8

103 103 The auditor who is removed by the Tribunal cannot be appointed as an auditor of that company for :

SILILITem6ooT WS &MV [H&H &0 Q& WIWILILIL L. 5600118608 WIMTaTen ] Levor(hLD b5 HlMILnG S 6V
Bl &8 6788 60)60T 34,6001 (H S6IT &858 Geueoor(h LD ?

A : 4 Years
4 91,6007 (h) & 61T

B : 5 Years — (Correct Alternative)
5 91,6007 (h) & 6IT

C: 6 Years




6 24,6007 (H) S 6T
D : 7 Years
7 S 600T () S 6T
104 104 SFIO is headed by :
SFIO -5 @& SHemeVemL :

A : A Director — (Correct Alternative)

RO QWHSHT
B : A Special officer

R SH6vfl a6y
C : Central Government
LSS W S| T&
D : State Government

LOMTHI6V AT

105 105 Investigation may be described as for a specific purpose.

L|6V6DTITULG) 6T6OTLIS 62 GMILILIL L &M TetorSSHME& C1&FUIS T 6TeOTM) QUITH6TLI(HILD.

A : Internal audit
55 5600 &M 5

B : Special audit — (Correct Alternative)
AL &eo0flEem5

C : Interim audit
@)6ML_55T6V & 6001186005

D : Internal check

&5 Frflumyly




106|106 The scheme of filing of return by salaries employee through their employer is done by getting :

0TS FLOLIGTLD QUMHBIGLIT 3 6Fs au@Lomer alifl HmésH60 Q& UIul Galemev aulpmki@ el LD
@QHE QUM Geuevor(hLD.

A : Form Number 10
LIl LD 6TevoT. 10
B : Form Number 12A
LILQGULD 6T600T. 12A
C : Form Number 16AA — (Correct Alternative)
LILG QLD 6T600T. 16AA
D : Form Number 25C
LILQ.6ULD 6T6v0T. 25C

107 107 Computation of total income and tax payable by an individual himself is called as :

S IBLT 3jeUHemLU QDTS QUHLOMETLD LDMMID QFVIGEHE Gelevorlq.wl euiflenuwl euGry
FHeoTEHS(H QFWISMHE GILIUIIYT

A : Re-assessment

LM LHILILTEH
B : Self assessment — (Correct Alternative)
&W G LT
C : Best judgment assessment
& Fmbs LS LILTEH
D : Scrutiny assessment
FreormigHerler 9q L6 U6y LG LILTH

108 108 Due date of filing of return by a non-business assessee is




WmUMILD QFWWTSHeTEHET, aulfl QFISHSH HTEEH60 QFUIUSM G 56160 600T [HIT6T

At 315 March
DM 31
B : 315t July — (Correct Alternative)

D6V 31
C: 315t August
SU,&6V (0 31
D : 315t October
&HCLMUT 31
109 1109 The primary aim of tax planning is

alfl B LK &6e960T (NG 6iTenln GBITEHE LN

A : Increase in profits

VTSNS AT &F 5560

B : Employment generation
GeUEMELAUITUILIEN LI 2_(TH6UMTE (& SH6V

C : Minimising incidence of tax — (Correct Alternative)
afl gHUB IS &M S5 6V

D : Compliance with legal formalities
FLLLFeUmeor pemmuiley Q& wevLI(h&6v

10 10 The assessing officer can complete the assessment under section 143(1) without calling the assessee, then the

assessment is called :
ol LHULTLH s LNifley 143(1) —6T HLb aulfl QFISSILIINT S6MP&HETINCEW
LS LT el @M Qauiwl 1PLqUu]GLneoflev, DG LILIE ereuaumm jemps sl (ID ?
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A : Self-assessment
&W G IR
B : Summary assessment — (Correct Alternative)
Q&MGLIL LS LILTH)
C : Inquiry before assessment
(e elEmrenevor LG LILT(H)
D : Assessment in respect to notice
WeT ML LHILILTEH
To protect right of minorities to establish and administer educational institution is mentioned in the

FoumesTemoulleory seval BlmieleTHIGem6T Blmiedl aimenm BlFauH &G0 2 flemnemnwl
LUMTSISTUUS ——— 6V Q&TH&SSLILIL(H6TETS.

A : Article - 29
Article 29
B : Article - 30 — (Correct Alternative)
Article 30
C: Article - 15
Article 15
D : Article - 16
Article 16

Non-formal education is anti-formal education' was stated by

"WenMFTTIT Sevall 6TedTLIS (LPMETT H6VelSE THTTEIS!" — QEFMTMHAMTLENT Fo MWL

A : Coombs and Ahmed
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FnlD6EN LOMHDILD &IOS
B : La Bella
6VIT QLIEV6LIT
C : Moti Lal Sharma
GLDITLY 6VIT6L &FJLOIMT
D : Illich and Freire — (Correct Alternative)
@69& mmid LNfGH
"True education is a training internationalism and we must make effort for the unity of the world", commented by :

"D V& RMMIMLNGSETE HITLD GLDMG & TETEHLD 2 6mLDLILIMTS FIauCsFWSH M mer LUIMHE
6TEOTLIGS 2_600T60) LOULITEOT S6V6" 6T60T & (H5 SN THS AU

A : Dr. S. RadhaKrishnan — (Correct Alternative)
LT&LI S. TMT&ITS ([H6)].600T60T
B : Rabindranath Tagore
TeibS IBTS S8
C : Mahatma Gandhi
DS TELOT &HTHS)
D : Swami Dayanand
erveU Ll &WImeoTH &

"Even if you have not been on a bicycle for years, in just a few minutes practice, you can be quite proficient again".
This statement illustrates :

"Bevor L 24,600T(H &H6mmss Hhall L&) 6uevoriq uiley LiLeoorld GQFUIUIMN6D @) (HHS T 6 Flev
6ol S &6 LW mE &L et LG euevoriq el (heuHlev L6oor(h LD HMedT GILIMEVTLD". @)\ H&H &
FaMHml 6Ten S aNlens:&GH M ?

A : All living is learning
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{emears g 2 WIBLD HH&H M)
B : Learning is a relatively permanent change — (Correct Alternative)
SO LIS BITHST LTODSH DS 2 Flws!
C : Learning is growth
FHMHMV UTFFF WL H Ml
D : Learning is an adjustment
SO RO FTenne] 24GLD.

defined character as the sum total of an individuals instincts, the inclinations of his mind.

& 601106011 556011607 GILOME S 2_600T[J6) 56T LOMMILD SjeUsnleml U oeTLILMECM e Heuflesr

LI600T L| & 61T 6T60T 660 [T ULIMIS S 6T

A : Aurobindo
S IRE:y)
B : Vivekananda — (Correct Alternative)
N GeUS TEOTH &I
C : Gandhi
&HITHS
D : Radhakrishnan
TSI &) (56196001 7

The explicitly stated that "in-service and refresher courses should be related to the specific needs of the
teachers".

Lieoofluflem L1 LU mS immild LSSTESL LUWIHE & fluisertler CxemelsCHmMmLI @) HeHS
GouevoT(HILD 616t —— M HMEH UL FoMLILIGS M S!.

A : Report of the National Commission of Teachers (1983-85)




CaxF W Al sdleger nlEend (1983 — 85)
B : National Policy on Education (1986)
CHFAW H6valls Q& TeTen S (1986)
C : Acharya Ramamurthi Review Committee (1990) — (Correct Alternative)
2LFFTIIW JTNeNTEH & W (1990)
D : National Policy on Education Modified (1992)
CHFWSH Hevalls GG MaTemns LMHMIUMDSSLILIL LS. (1992)

17 17 According to the doctrine the universe was made up of active physical forces.

FoMOILILIG LNTUEBSFLOMerS Q& WeSHment WlEsH @uImLIu6 2 [HS &85 & 6rfleormev
2 HUMEHSLILOGSHMS!.

A : Vedanta
CoUSMTHST
B : Sankhya

& IT600T &5 55 UL 60T
C : Lokayata — (Correct Alternative)

GeLM&HMWSIT
D : Adhishankarar
B EFBSTT
is the process of learning new knowledge and activity.

LS W 9jniledlemeot ULD, Q& WI6VSH) M6t 60T UL|LD ——— &M M6V aULBl(LNEem M eLN6VLD GILIMEVITLD.

118 118

A : Growth
GUETIE G

B : Development
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(LPeoTGeoTMMLN

C : Maturation — (Correct Alternative)
WHIEe

D : Training
LUl me

The goal of developmental changes is to enable people to adapt to the environment in which they live and to achieve
this goal is essential.

(6T G6oTMM & B M & IT60T LOMMM & H 60T @)6VE (S 6T60TLISI LN & E606MS SITLD QUMTIOLD &L evIsGH ML
QUTBHSEF Q&FUICHTH, bHS @)6V5HH 6M60T 3j6mL L 108 PSSR WLDTETSHTSH
NeMTHRIGH M.

A : Self esteem
&60T LGB IL|
B : Self confidence
60T LN G5
C : Self lessness
SEOTETILDMH DI QS S6V
D : Self realization — (Correct Alternative)
&etteotlemmuinley
Psychologists discover the conditions that govern transfer of learning from school to :
HHmedlerT LmHmLD UeTefluNeNmBHEs ——— T HHF QFLSILD (LPEMMEMLDEM WL
(PeTeuemTWenm& GMILIL] QBMILM &S5 60TM 60T 6T60T 2_6mal LIGVITET & 61T 856007 LM 55607 .

A : Colleges
FHeufl& &

B : Life situation — (Correct Alternative)




AUMPEHMEHEF GLPNIHG
C : Higher education

2 T &Vl
D : Job Development

Q&smdlev Ul

21121 Al true discipline is

MTH G QUG UM SHSLD

G 0.

A : Parents controlled

QuUMCmmlerr L MLUILTL &G wg
B : Teachers controlled

A lwfler sLOUUTE Q&G Iws
C : Self discipline — (Correct Alternative)

&l @W&HSHID
D : Mere by order

QeumIlD &L L ememuileoTmev el (HeU S

1221122 Alexander's Pass - along Test is a subtest of

I Q6V86enVImevor L[fl160T LIMEN 6Vl & & 60)60T 6T6TLIS ——— 60T LIGSH) C&FMEH 60 60T WITGLD.

A : Wechsler Bellevue Intelligence Scale

QeUGHFI6VT GILISIGE HI6ooT600T M6 2|66 G& M6V
B : Bhatia's Battery of Performance Test — (Correct Alternative)

LI wimenSler GseTells QS MG LIL 6L a5&HE C&F TS 60 60T
C : Raven's Progressive Matrices Test

Gyeuentledr Lm& G MM & 600785 L6V GF TS 60 60T
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D : Army Beta Test
T T LT GF Mg ement

Who saw human beings "as having different facts like intellects, emotions, appetites, bodies, etc" ?

060115 [T 8606 LIGOT (LD &5 MG 8 T600T LeU T&H 6T TS, 3&MeUS SMIeUTss, 2 600TJ&FFI WM, LISFIWITS,
2 LIDLIME &H600TL6UT :

A : S. Radhakrishnan
6T6N. [JITSS T (IhH 619 600T 60T
B : Mahatma Gandhi

ID&TSLOIT &ITHS)

C : Tagore
&M&[]
D : J. Krishnamoorthy — (Correct Alternative)
Q8.5 HeYETeNTSHS)
Emphesizing the unity of knowledge is the objective of
M6 LTLIQ L 6m6V60 LI 6 ([H !5 60)600T 5 & 60)6V @gmmmuu(agpgjsugj — 60T
GBMT&H&IDMGLD.

A : Basic School
QLSTY LieTer]

B : Shantiniketan
FTHE BCs 5 60T

C : Ashram School — (Correct Alternative)
QL F Tl LieTer]

D : Sense Experience
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L|6V60T {6DILI6ULD

introduced the idea of non-classroom learning.

UG LILSET QMM MMV 6T60TM SH([HEHeMSE —— 6TedTLIoUT SIMWNSLILIGSH 60T .

A : Ivan Illich
@) 6uedT 6015
B : John Holt — (Correct Alternative)
SO T60T G&ITEVL
C : Dennison
G L_60T60T | & 60T
D : John Brito
sgmeor LI GLiT

If a person is able to secure a job and income, Commensarate to his qualifications, abilities and knowledge, then that
individual is said to be

6(IH LI &60T60I60)L_LL 5@@ GmemnLo LDMHMID NI G1& TooT(h 26U ([HESHTET Galemev
LOMMILD QUIHLOTE0TE 60 GILIMIG6OTMITIT 6T60T MMV 2{H& &H60T] [HLIT TEOTEUT 6T60T M)
P& S LGS OTMIT.

A : Underemployed
FH&H &G GHeMMeUTeT Celem6y
B : Unemployed
GeuemeuliledTemLo
C : Self-employed
&rul Geuemev
D : optimally employed — (Correct Alternative)




&GS &HCHMHM Geuemey
127127 Sarva Shiksha Abhiyan was Pioneered by

I 6M60TEU(H G G LD FHevall HL L5 ) emeor @@Twﬂmwu LSS Wer :

A : Rajiv Gandhi

TTeSleuss mH S
B : Deva Gowda
CHeusGa|LIT
C : Atal Bihari Vajpayee — (Correct Alternative)
Il L6V Lasmifl eumsauimul
D : Narasima Rao
BIFDLOF T

128|128 Who supervises the functioning of the school library, science laboratory and other specialized rooms ?

LieTerfludledr mmeussLD, Hmlafluicy i lilelssD GLayild Flev &6ofl& Sl aUTUIHSE 3|60 M8 6m 6T
Gumurmiemeuwil(hiLd Lieoflullemerr QaFuILIeT

A : Head Master — (Correct Alternative)
FHeneven oW e fluly
B : Librarian
BTeV&
C : Science Teacher
S Mleflwicy A flwiy
D : Chief Educational Officer
(NS 6TenLD Hevadll AF SIS

129|129 Based on Article of the Indian constitution, religion or language based minority schools are formed and
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maintained.
@b W TF 6T FISH I T S\ mILITeoTemLoUN 60T TSI L6616, LG50 3|6V S
QM gt uilev gHUBGSSLILLG UFTFléasluUl LSl :

A 28(1)

28(1)
B: 29(1)

29(1)
C: 30(1) — (Correct Alternative)

30(1)
D : 32(1)

32(1)

is the oldest and the most important advisory body of the Government of India on Education.

&Hevallufl6v LIpemLD QUMULBHS LMD W& 6D LNESR UILDMeT @ HSIU TR 6T 2nleemnr
Swwwn oG l.

A : UGC
UGC
B : CABE — (Correct Alternative)
CABE
C: NCERT
NCERT
D : NIAE
NIAE

Promotion of education to the tribals comes under of Constitution of India .
LDEMEVEUITLD D& & erfledt Seval (LNedTGeorMMLD 6T60T LIS @ HSH W TFHlWemDLIL] FL L LD
G UBH TSI




A : Article 47

2 _miL| 47
B : Article 46 — (Correct Alternative)

2 _MiL| 46
C : Article 51

2 MmiL Sl
D : Article 38

2 MmiL| 38
Child Labour eradication day is observed every year on

626UGIGUT(H QUIHL (DD GBS GG TLLI6VTETIT g@g_ﬂluu BITEMTTS SHSLILIBILD BIT6T

132 132

A : June - 12 — (Correct Alternative)
e OG0T — 12

B December - 15
Q. FLOUF — 1

C: January - 30 th
sgeoreurfl — 30

D September - sth
Q&FULLUl -5

1331133 Piaget has coined the new term 'grouping' to describe a set of

QETGHH W alend: GeUsMmams LNuwmesy assmevg;gjsmmuﬂa) Q&TGHD) 6TedTm L|S
QUMTISHMNSHEMWI 2_(HEUTEHS6OTTIT.

A : Operations — (Correct Alternative)




QFWMUTH &HET
B : Experiences

9|60 L16) I & 6T
C : Intuitions

O _6ITETH600T [J6Y & 61T
D : Associations

() 60)600TH 6V

134|134 is the most efficient and developed vehicle used for carryingout the process of thinking.

FbEHemer QFWeLTLmL W&HE FImLUILITS QST HS 6T &S LIU6TLH LD
&5 315 8TJ600r| eTeoTLILI(hILD.

A : Muscle activity
HNF QI F WeuLIT(h
B : Image
85D LI6D) 60T
C : Concept
HOHS5S!
D : Language — (Correct Alternative)
QLML

135 135 is not a process related factor influencing learning.

&HMHMES60T (LN MEMWILT LIMTH &85 QUL SHITT600T] 2{6V6V.

A : Provision of drill work, revision and practice
LW &, WeTLIMTemeu LnMmmiLd LesTpen ML LILNMHE oyerflg g e6v

B : The selection of suitable learning method and teaching
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QUITHSSLOMET MMV LMD &HUISSHE emmenwsd CSIHGESH S S 6

: Linking of the new learning with the past

LIS W &mHmenev LienpuleralMECmM(H Q&ML FLLGS SIS 60

: Organization of the content — (Correct Alternative)

LUMLUUGSGS 60 6008 56V

The Thematic Apperception Test (TAT) for assessment of personality was developed by :
@B LS LILNReUSMETH 2 ([HeUTEHSLILIL L TAT CFMTSHemeTen L 2 (HeUTSHSH WU

A

Harman's Rorschach

QMTJLO60TEN GFITTOVF MEF

: D. Leopold Bellack

D. 0GWMBGLMeL(H GILIGLEVITE

: Crow and Crow

&CImey LDMMILD &GFmel

: Murray and Morgan — (Correct Alternative)

WrGH LMmMILD GLOITT& 60T

Sense of personal worth , self respect and feels secure in the group are the characteristics of
SeTFH LN B H6L, FHWnFlwmens, &WalleL LIMSIGTLILITES 2_600T[J &6V
&H60T6NLNSHETTGLD.

A

: Mental Retardation

LDEOTEU6TTEF GeoTIGWITT

: Mentally Health — (Correct Alternative)

LO6OT[H6VLD

: Mental Illness
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LD6OT[H6V LIMSILIL]
D : Physical Health
9 L6V [H6VLD

Students are given opportunities to make choices about their own learning and contribute to the design of learning
experiences in learning.

LD T60oTEU [T 8611607 8+ Ul SMM eV &8s meor all(BLILISG & fley Q&FelsmHE&LID, &mHmev
S| WILIaIMIG6TIeT G L emnnliemL LIMIG6T&a 6D aUmulliL] 6lpmkIGLD &Mmey
S LD.
A : Child centred learning — (Correct Alternative)
GLPHENS MLDUIS &HMM6V
B : Subject centred learning
LML 60LOUIE &SMMeV
C : Teacher centred learning
AT emDWI& SMHMev
D : Self-learning
&l SMM6V

includes anything that can be communicated from one generation to another.

6(H &MV (LNemMUIleofleTml LDMHGMITIH HeMEVILNME S F CHsuIld URTHS Q&THLILSI

S|L_MGIGLD.

A : Knowledge
mlafev
B : Actions

Q&Fwedlev
C : Culture — (Correct Alternative)




LI1600TLQ.6U6ITLD 2{6V6V S LI6ooT LIM(hH)
D : Sports
ellemerwlmL_(h

140|140 The headquarters of National Institute of Open Schooling is

CxHA W HmbHSBlemevLl LiaTer Bl mieeord 5 6T &6016V6MLOUIS LN S LD.

A : New Delhi

L& QL6eved
B : Ranchi
JmEehs
C : Noida — (Correct Alternative)
QBITUWILIT
D : Dehradun
GLym(Heor
141 141 Which district of Tamil Nadu has the least density of population ?
SLOILDBITL Q60T 6THG LOMEULL LD LO1&& & 0MbS 0SS ETL TEHF 6mW8 68 meoor(h6Ters ?

A : Nilgiris — (Correct Alternative)

beu &

B : Ramanathapuram

JTLOBTSLTLD
C : Dharmapuri

S
D : Vellore

Geugry
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Match the List-1 to List-1l and answer using the codes given :

List-1 List-1l
(@) Thirunelveli (i)  Kiliyur
(b) Theni (i) Kalyanatheertham
(c¢) Namakkal (i) Kumbakkarai
(d) Salem (iv)] Agayagangai

uliquey | wommith uligwe Il 20 QuIBSES C&amhéslLL (Herer

MG semarl LweTL(HS S allenLwiefléasea]lh.

LILLQUi6u - | UL g uiev - |l
(a) BmHeBLGa6 () Sererlw,i
(b) Gsmeofl (i) Sevwimemr TS50
(c) BITD&ESHY (i) GLDLSSHemT
(d) @&Feuld (iv) QL&MUL Hmiemnss

A (a) - (1), (b) - (id), (¢) - (iid), (d) - (iv)
(a) - (1), (b) - (i), (¢) - (i), (d) - (iv)
B : (a) - (1), (b) - (ii1), (¢) - (1v), (d) - (1) — (Correct Alternative)
(a) - (i), (b) - (iii), (c) - (iv), (d) - (1)
C: (a) - (iv), (b) - (i1), (¢) - (1), (d) - (iii)
(a) - (iv), (b) - (ii), (¢) - (i), (d) - (iii)
D : (a) - (iii), (b) - (1), (c) - (iD), (d) - (iv)
(a) - (iii), (b) - (i), (¢) - (i1), (d) - (iv)
Ad Hoc Committee of the Indian Parliament is divided into :

@bBS W LITTTEHL6TMESSH 60 BIIHETIeveuTs &6 ereuaumml LNl Ll (HeTereor ?




A : 2 categories — (Correct Alternative)
2 QU &SI

B : 3 categories
3 GUEM & SH6IT

C : 5 categories
5 EUEM & SH6IT

D : 7 categories

7 66D &HG6IT

144 1184 Black soils are found extensively in the districts of :

&Ifl&F6L D6voT QUIHLDETENED & mevorL1L(H &) 60T LOMEIL L BIS6T

A : Coimbatore, Madurai, Virudhu Nagar — (Correct Alternative)
Ca&MWIDLS SN, LDSI6n T, el (HSIB ST
B : Cuddalore, Villupuram, Kanya kumari
SLaury, el LI, &6oTevf 1 m@G Loy
C : Sivagangai, Coimbatore, Ramanathapuram
Flousmens, CHTWIDLSSTT, @UTBMTSL|TLD
D : Cuddalore, Villupuram, Tiruvallur
SLT, all@LILTLD, Sl GeeTesn
Which hill station is known as poor man's ooty ?
6TIHS LD6M6V UITLAIL_LD 'gJemLp & 6rfledT 26m 19" 6T60TMI eMSHEHLILOQSH S ?

145 145

A : Coonoor

G 60TEQT]




146

147

146

147

B : Yercaud — (Correct Alternative)
gO&TH
C : Valpari
GUITELLIMEDY M
D : Yelagiri
geuGlifl
Starting blocks allowed only for :
VL MTIQ M LNeum&en @&MeTe oL (HID eINFH&HLILIB IS

A ;1500 m

1500 LS
B:5000m

5000 LO
C: 10,000 m

10,000 L8
D : Upto 400 m — (Correct Alternative)

Upto 400 LI

Abbreviation of FDI :
FDI -601 eflifleum& &1 -

A : Foreign Deputy Investment
| 60Tevfl @) 6meoor (NS5
B : Foreign Development Investment
leoTeof W eUeTIEFF (L&H6S(H

C : Foreign Development Investigation




9| 6oTenf Wl eueTT&FF e\ & T 6t 60T
D : Foreign Direct Investment — (Correct Alternative)

S|60T60t W BTG (LNSHE5(H

148 /148 Royal Botanical Gardens, kew is in :

TMWe6L Smeugelluley LLBIGST, SW, 6ThI&6Tens ?

A : Australia
LNV &H Gredlwlm
B : Brazil
LNGr&6v
C: US.A.
US.A
D : England — (Correct Alternative)
QRIS THS

149|149 The reason why Chlorine Water is responsible for the antibacterial action and bleach :

SGermifledr B HicoorenmiUINF 6TH) T8 S 60T6mN& G LD (Antibacteria) Gl6UEH & GLD CILITIHETTES
LiweT (eSS M &G LD SHITF6oorLD :

A : Hypo chlorous acid — (Correct Alternative)
MM LIGUIT GGaTTIe Lilevld

B : Water gas
By eurmuy

C : Sulphuric acid
Feullluw, 16 9dlevid

D : Silicon tetra chloride




FeNGEHeT QLLTT GGeTmeni(h

150 71301 Tamil Nadu, Elephant reserve is located in :

WImeneords 6T &S LD SLALDBITL 196V 6TMHIG {6MIDIHSI6TETSI ?

A : Wayanad
W BT
B : Periyar
Qulwmy
C : Annamalai — (Correct Alternative)

34,60)60T LD 60)6V

D : Anaimudi

SLENETT(LNLY




